
DR. ZABDA WI Derivatives of Trig. And Inverse Trig. Functions

U is a function of x, i.e. U =U(x)
dU

If U =X-7 -=1
dx
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xl/+1
Jxl/dx=-+C , n #-1

n+l

J~ = InJ-xi + C
x

Jexdx = ex +C

ax
Jaxdx=-+c, a>O,a#1

lna

Jcosxdx = sin x + C

Jsinxdx = -cosx + C

Jsec2xdx = tanx+C

. Jcsc2xdx=-cotx+C

Jsecx tanxdx = secx + C

, Jcscxcotxdx = -cscx + C

J tan xdx = lnlsec xl + C

Jcotxdx = Injsin-xi + C

J sec xdx = lnlsec x + tan -xi + C

Jcscxdx = Injcscx-cot~+C
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If the power of the sine
Save one sine' factor
Use sin2 x = l-cos2 x
Let U = cosx

If the power of the cosine is odd (n is odd) then:
Save one cosine factor
Use cos2 x = I-sin2 x
Let U = sin x

If the powers of both the sine and cosine are odd then:
Use either approach a) or approach b).

b)

c)

If the powers of both the sine and cosine are even then:d)
Use half angle identities: sin 2 x = ~ (1- cos 2x)

2

If the power of the tangent is odd then:
Save one factor of secxtanx
Use tan2 X = sec2 x-1
Let U = secx

b) If the Dower of the secant is even then:
Save one factor of sec2 x
Use sec2 x = 1 + tan 2 x

Let U = tan x

If the power of the tangent is odd
Use either approach a) or b).

c)
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J sin mxcosn xdxHow to Evaluate

is odd ( m is odd) then:

1COS2 X = -(1+cos2x)
2

. 1 .
2srnxcosx=-sm x

2

x sec n xdxmtanHow to Evaluate

and the power of the secant is even then:


